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Max. Marks: 180

Instructions for candidates :-

1)

2)

3)

4)

This exam is in two parts, each part has 90
questions.

Part-1is related to Mental Ability Test.

Part-ll relates to Scholastic Aptitude Test. It
consists of seven subjects, ‘details of which are
given below :-

i) Physics; i) Chemistry; iii) Biology:
iv) Geography; v) History; vi) Civics;
vii) Mathematics -

Each question carries one mark. All questions

are compuisory.

You have been provided with a answer sheet
(OMR). for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ink.

Rough work may be done on the provided blank

space.

There. is no negative marking in this question
Paper.

At 3We FTHE: 180
Siteeetsetourfest:
1) feg @ € gar fe'e § 1 99 91 fiee 90 yis

2)

3)°

4)

5)

6)

7)
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i -~ Partl (3r-1)

Questions : 1 to 90
Directions (Q1-4) : There is a number senes following a
pattern: One place is left blank. Find out the: correct answer
from the options.

1. 30,31,35,44,60,85,121,7 _
() 157 (2 170 (3) 144 (4) 128

2. 0,7, 26,124,215, 7 '
(1) 342 (2) 382 (3) 296 (4) 272

- 3. 2,12,36,80, 150, ?

(1) 252 (2) 225 (3) 522 (4 255
4, 1,4,10, ? 46

(1) 20 (@ 24 (@) 22 @ 19
Directions (Q5-10) : In each of the following qQuestions,
there is a relationship between two letters/word/number/
figure on the left of the sign (: :). The same relationship

exists between the two-to right right of the sign (: :) of which
oneis missing. Find out the missing from the alternatives.

5. . EXCUSE: CXEESU..ERODES.?

- (1) OREESD (2) OBESEDV
(3) REODES (4) ERODSE

6. - LJH:KKI::CiA:?

(1) DBB 2) BJB
7. BORE:10::HOTEL:?

(1) 12 (2) 15 (3) 18 (4) 30
8. 100:11::121:7

(1) 10 (2 12 8) 11 (4) 18
9. 20:11::102:7?

(1) 52 (2) 51 (3) 98 4) -49

(3) CBZ (4) BBZ

. A ?

m (2) (3) @
Directions (Q11-13) :The letters given below follow a

definite pattern. Find outthe missing letters to-complete tha
pattemn, .
M. h___ eg,___fegh,_,_egﬁf_e_w_ ce
(hgfh  (2hhgg  (3)figh  (4)thig
12. ab__d_aaba__na__badna_'badna

(1) babda (2) badna (3) andaa (4) dabdb

Mental Abiiity Test - 2011/mmqmtisa 2011

L YEE 1390

fméra{amw)wfs&w SwigreraeEt:
wmﬁuﬁlmwmmf giofeas
30,31,35,44,60,85, 121,92 . i f

(1) 157 (2) 170 @).ﬁfﬂw @) 128
2. 0,726, 124,215/ 9 ~H0nA -

(1) 342 (2) 382 (3). 206 (4) 272
3.  2,12,36,80,150,7 ‘

(1) 252 (2) 225~ (3) 522
4. 1,4,10, ? 46

(1 20 (@ 24 .3 22 (4 19
fasdw (yuw 5-10) : 35 foi yast fég . : S¥Fyw
Wmmﬁ/hwﬁamalﬁﬁwenfawkva

@a’mﬁum@%mfemﬁa‘wmml
5. EXCUSE: cx:—:Esu ;ERODES:?. ,
() OREESD. . (2 OBESED
(3 REODES = (4 ERODSE

6. LJH:KKI::CIA:2
(1) DBB  2) BJB
7. BORE:10::HOFEL:? -
(1M 12. (2 15 (3 18 (4) 30
8. 100:11::121:7 o
(1) 10 (@ .12 (3) A @) 13
9. 20:11::102:7
(1) 52 (2) 51 (3) 98 (4) 49

(é)i CBZ (4) BBZ

o @ Te @
faodw (Waw 11-13) : 3o {83 o wive' & st fow fonfag
W(paﬂern)@mﬁ'lkﬂ'aﬂﬁ'ﬂf§y&"mwm
nmausvam ,

1. h__eg__f e;g'h,,*,%_eghf‘e,__,,. ‘ ‘
(Dgfth . (2)hhgg . (3Mfgh  (4)hig
12. ab_ d._ aaba . na_ badna .badna
(1) babda (2) badna (3) andaa (4) dabdb




13. . bec__ac __aabb__ab_cc "
(1) asbca (2) abace- (3)-bacab <«4) bcaca

14, ° Inacertain language it RAIN is called water, WATER

is called’ROAD; ROAD is callad CLOUD, CLOUDis

-called-SKY,- SKY is-called SEA; and SEA is called
PATH, thenwhere do aeroplane fly ?

(1)ROAD (2)SEA (3)CLOUD  (4)WATER

Directions (Q15:19) : What will come in-place of question
mark (?) Inthe following questions.

15.
(3)22 (4)28
16.
(1)235 (2) 141 (3)144 (4)188
17.
(4)135
(4)66
19.-

(1)316 (2136 (3361 (4)631

- (n31e

20.1

- 13,"7 __.bcec_ ac. aabb _ab cc
,“(1»’)§-aabca (2) -abaca (3) bacab (4) bcaca
14, A fal g e i § U foar o, o et e
Eangr faor 72 Stogedt now fea @eeus
(1)Asa (2)AFTT  (3)EHES )y 21
| faTeu (yEs 15-19): 35 fal et fe yrs i () e
g ’
15.
I 22.
(1332 @18 (322" @28
(1)235 (2) 141 (3) 144 (4y188 (
17. 7 Directi
\ i : on a si
\ 63 imarkec
2] 14 ? {9}
30 | : 23.
15 , : '
(1)18 (2)33 (3)145 (4)135
T
18. ¢
24,
.60 (@62 (4)66 L
w
(1

(2)136 {(3)361 (4)631



20. @A man s facing towards west and turns through 45° .

clockwise, again 180° clockwise and- then.‘turns
through 270° anti-ciockwise. In which direction is he

facingnow ?
(1) West (2) North-West
(3) South {4) South-West

21. A man travelled westward 5 kms tumed left and
“travelled 3 kms, turned right and travelled 9 kms. He
then travelled north 3 kms. How far he is from the
starting point ?

g (1)5Kms  (2)3Kms  (3)6Kms (4)14Kms .
F 22

A Series of figures are given which can be grouped
into classes. Select the group into which the figures
can be classified from the given responses. ~

A ¢ @ /A\ A
2 3 4 5
7 8 9
(1) 14,5, 26,8; 3,79 (2) 1,3,7; 46,9; 258
(3) 1,37, 258; 469 (4) 1,38 257; 46,9

Directions (Q23-24) : The following questions are based
on a solid cube on which different numbers/symbols are
t marked on each face.

] = 1/ 1,
@Y |0 =Y |al@
(i (i (i) (iv)
The symbol opposite the face having the symbol-ls

MmO @A @ © @ 3

,24'

(ii) (i) (iv)

g$23.

© 20. fevfemas?whaaw‘awharwm@amw‘ ‘

nmafama'&wm & G U emirvg feo
180°wﬁww&@wwwww&aéa
urs?éi»ﬁwg?@a?hwawzm ST I UM
fammge'fwfﬁmas‘rfawfewefmaafawa?

1yven - (2)€'g9-ue
(3) TYE (4) Ty=-usH
21. fog fomaat Ve &5 5 fa it gser 3 fea Qo va U
e AT I 3 faoft. sser I, AR yR YR A 9 fad.
maﬁv@v@wwuﬁsfam WUi@UM’U&'
nam*‘s’rﬁe*a‘fas?ea‘f:-r%u "
(Vsfaft. 2)3faf. <3>a,f-em (4)14faru"r
22, foTe & f'w ael s ared famd. it & et f'
feqar atgT A Aaer 3136 o3 fagsut fed Qoo g€
hnmfawermﬁmaﬁ?wnm

ALK QA/\

1

D»C..

6

(1) 1,45, 2,6 8 3.7.9 (2; 137 469 258
(3) 1,37 2 8, 469 (4) 1,38; 257, 469

fagew (Yus 23-24 W@?wﬁamwawﬁ?m,
AR S g9 TR 3 fea Sudt Afemr /57 efunr Sfenm §

o9 oY | =¥ NS

0 W@, -
mseﬁmuwfaas U@T-re@zz?uwi"aas*f‘a?;:r?

i Ne) 2) A~ <3)© @3

(u) (ul) g (|v)

23.

N

Which number is opposite to 3 ? m?ﬁﬁﬁi”f' 3 @@8?3 r
mr @2 @ @e i @2 @8 @s
N S




25.  Which one-of the:following- figures represents the
relationship::amang coHege students, :singers and

dancers. .. ... _
O
>

)

(1) - (2 e (4)

Directions (026-27) The followmg questlons are based
on the following information :

FivemenA, B,C,Dand Eread a newspaper The one who
reads first gives it to C. The one who reads last had taken
from A. E'was not tfie first or last to read. There were two
readers between B and A?

26. B passed the newspaper to whom ?

m A (@ € (3 D @ E
27.  Who read the newspaper last ?

(1 A 2 B 3 C 4 D

Directions (Q28-29) : In the following question there are
equations without signs between each-two numbers. Find
out from the given four optiéns which one would render the
equationto the correct.

28. 16 A15A3A11

(1 4+, = 2, =+ x

(3) +,-=, + (4)‘ -, =
29. 16 A2A4A8A12

(1) T (2) +, =, =

@ -t @ oem

30. If x means +,—means x, + means + and + means
—, Then (3-15+19)x8+6 = ?
M -1 @ 2 @ 4 @ 8
31.  If P denotes +, T denotes +, M denotes —, D

denotes x, then what 'will be the value of
. 72M13D72P12T27="7

(1 34 (2 12 (3 21 (4 43
32. fthe mterchanges dre made.in signs (+ & x) and the

numbers (3 &:5); which one of the four equations
would be COrrect ? :

(1) 5&5x3+42=27 (2) 5x3+12=75
(3) 5x3+12=63 :{2) 5x3+12=65

33. Arrange the following words in alphabetical order
and selectthe word that is in the first place

(1) School (@) Student
(8) Sacrifice - (4) Satisfy

M3 TR fegarg sla mfT eamr@er 3
(1) (2) (3) (4)

feodw (yms 26- 27)33rfsuqnxfe-a‘?a1ﬁméwfas
IS

Uw feniast A, B, C,D M3 E fea muyag uge I I feg i Rg 3
ufast e uger 3 Qo ugd C § © fowr 3 fea ¥ ampe few
nyarg uFger 3, €9 A 3 wvwe B'er 31 E gy feu vt wdte fee

- sAtugerIBMI AT fegag s ugs e us?

26. Bfargnmeféery?

Mm A @ € @ D @ E
27. faas*naa‘mﬂafevmug@a? -

MmN A @ B @3 C @& D
feadw (Yus 28-29) I3t fod ynst g mitaas & & ifipwret
& 73 €9 by 5t 95, o3 o oo feasit fed aifegw fagt

grfagarAye A émmmmmhmmﬂm
gl

28. 16 A15A3A 11

(1) +, 4y = ' (2) =, 3, X

@ +=- @ - =
29. 16 A2A4A8A12

(1) == 2 +-=

@ w-h= @) 4=

30. FHT x T HIBY -+, — T HIBY x, + T HIGY + T +
TTHIBY —, IL It (3-15:19)x8+6 = 7

m -1 @ 2 @ 4 (@4 8

3. AP T HIBH+, T EHIBE+, MEHIBF -, D&

HIBY x < It
72M13D72P12T27=??§f‘83ﬁ’5’%€f"?
(1) 3¢ (2 12 @) 21 (4 43

32, AETfEE (em@ x) I i (33 5) Srwmum fetg e |
aaaﬁaafe%'m'%?ﬁsfa'ﬁmﬁfa&famm:

AN d?
(1) 5x3+12=27 (2) 5x3+12=75
(3) 5x3+12=63 (2) 5x3+12=65

33. &2 nget § S90S € U »EHe 7§ M3 89 BET
oF faos ufod mes Iwer 3
(1)  School @)
(3) Sacrifice (4).

Student
Satisfy
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4 tions (Q34 & 35) : In the following questions arrange
e words as they occur in dictionary and choose the
correct sequence.

34. i) Abacus, i) Absorb, iii) Academy, iv)-Accompany

(1) i, i, 0, (2) iy, i, i, i
() i, ii, v, iii (@) i, ii, i, iv
35. i) Ballot, i) Ballad, iii) Ballast, iv) Balloon
(1) i i, v, (2 i, v, dii, i
(3): i, iii, i, iv (4) i, iv, i, iii

Directions (Q36 & 37) : Arrange the following in
meaningful sequence.

36 i) Table, ii) Tree, iii) Wood, iv) Seed, v) Plant

(1) v, v, i, i, i (2) v, v ii, i, i

3) i, iii, i, iv, v 4) i i, dii, v, v
37. - i) Frog, ii) Eagle, iii) Grass hopper,

iv) Snake  v) Grass

(1) iii, iv, i, v, i (@ i, iii, v, il iv

(3) v, i, i, iv, i (4) v, i, v, i, i

38. How many such 5's are there in the following number
sequence which are immediately preceded by 7 and
immediately followed by 6 ?

755945764598756764325678

(1) One (2) Two
(3) - Three (4) Four

39. Inacertain code language “come again” is wriften as
“ho na”, “come over here” is written as “Panata”and
“qver is above” is written as “ki ta ja". How is ‘here’
written in that code language ? ‘

(1) Pa (2) na (3 ta.. (4  ja

40. There are Deer and Peacocks in a zoo: By 'counting
heads they are 80. The number of their legs is 200.
How many peacocks arethere?

(1) 20 (2 3 (3 50 (4 60
41. Ahillalwvayshas ___?7 "

(1) Trees (2) Animals
(3): Water (4). Height

Directions (Q42-45) : According to a Code language the

4 . words in capital.letters in column | are rewritten in small

letters in columns Il. The codes in column |1 dq not appearin
the same order as letters in the word in column |, the codes
for each one jumbled within. Find the code for each word
from among the choices given under each word

Column-| Column-ii
GAME yacb
TAPE zary
PLOT rjhz
MEND abnk
PLAN hykz
L 42, GONE
(1) yhka (2) «cjka (3) crya (4) yjab

f5T9W (YRS 34-35) : Jo* &S HuE TEaHST € H Werd

7% AYT O JIATTISHB HSHIT R

34. i) Abacus, i) Absorb, iii) Academy, iv) Accompany
() v, i, i 2y v, i, iy i

(8) i, ii, v, il (4) A v
35. i) Ballot, i) Ballad, iii) Ballast, iv) Balloon
(1y i, i, v, i S (2) iy il

(8) - i, dii, i, iwr . ‘(4)«;'3.:;,!&; IV, #iif.
Feam (e 36-37): T it et e e
36. i), l)eeug, iy seEs, vy@w vider - -

(1) . i vedi i i ?2; v, v i i

(3) i, i, ii, iv, v @) i, v
37. )FF ii) fe's/amr i) fésT

iv) FY v) W

(1) i, iv, i, v, i @) i, i, v, i, v

(3) v, iii, i, iv, ii @) viii, iv, i, i

38, faus st foe wia 5 a3 wret 3 nfaz J fawm fee »id
5 F yfgst wia 7 mer 3& mI s feg nig 6

wger 31

755945764598756764325678
1 fEx @ T
3 fis (4 w9

39. fair &% 95" f€9 “Comg Again’ & »d¥ ho na" J,
“Come Over here” & »dd “Pa na ta” I W3 “Over is
above” T WEE/aF “ki ta ja” T 1 feR & ¥ &9 ‘here’
ST MITTH | :

(1) Pa (2 na (3 ta (4 Ja
40, feur fasior-wg fe'S fage w3 W9 751 Gt @ frat
fareat 80 ImI @t Tt w3t fre 3t 200 91 feT EF

fa@ufas Foasi

(1) 20 (2) 30 (3).. .50 (4 60
M. voEEs fagE S o I Y 7

(1) oI . A2)  AEEE

(3) ua - (4) . - Gl

500w (YHS 42-45) : {7 fdga g0 wgHd oK | fTe =3

 niygt ve fey weet-§ arey Ak fee g fafor famr 31

o3 et & »iye 91 999 € &3 § v fe g ger-fusr fear
fapr 31D o fegsut fed T3 Y AR RET OT A € |

TTHH-| < AVBHAN .
GAME oygh oo
TAPE , zary
PLOT hz,
MEND ~abnk
PLAN hykz

42. GONE

(1) yhka (2) " cjka (3) ‘crya (4) yjab




43. DATE

(ynyra  (2)
44. LEAD .

(1) hyak (2) zayn (3), zyck (4) hayn
45, GLAND : '

m chykh (2) yzakb (3) akczb (4) czynk
Directions (Q46-48) : In the following questions numbers
are arranged in the form of pyramid, From this pyramid four
sats of humbits are electad based on certaln logic. Two of
these are given onthe leftandtwo onthe right of the sign (::)
one set of the numbers on the right goes missing. Choose

that set of number from the altérnatives which carries the
samelogic - ' 1 C

2 3
6 5 4 42
- 78 9 10 41 40
4% 14 13 12 1 . 37 38 39
1644718 19 20 .21 22 23 24 25
36 35 34 33 32 31.30 29 28 27 26

bazy (3) kazb (4) nazr

46. 7:18::37:? .

W 23 @ 3 @ .20 @ 28
47. 8,17,34:9,20,32::41,22, 29:7

(1)  40,23,28 (2) 40,2527

@) 339,24 (4 22,3728
48, 36,16,36:15,17,14::7,6,8:7

(1) 6,85 @ 21,3
@3 253 @ 1,28

_ 49, .. In acertain code language FASHION = FOIHSAN,

" In the same code. language find the code of

“ SCIENCE
(1)  CIENCES (2) NCESCIE
~(3)  SCNEICE {4) SCNCIEC

50.  In a certain code larigiiage PHYSICS = YHPSSCL,
in the same language find the code of PROBLEM

(1) " ORPBMEL (2) - ORPBEML
(3) OPRBMEL. ... (4) ~ORPMBEL

51.~ Ih:a certain code tahguage HEATER=KBDQHO, In
. the samie:tanguage find thie code of COLLER

@)y " EOHO (@ FLRHO
(3) FRLIHO (4) FLRIOH

52. If LOYAL:ig'coded as 13-16-26-2-13, In the same
language'CLOCK = ?

(1) 3-18:15-3-11 @) 4-12-16-4-12
(@) 41317412 (4) 41316412

LA

46. 7:18::37:7

43. DATE » ~ o :
(1) nyra (2) bazy (3) kazb (4) nazr
44, LEAD
(1) hyak (&) zayn (3) zyck (4) hayn
45. GLAND o

3

(1) chykn (2) yzakb (3) akczb (4) czynk

 fgRE (g 46-48) - It IR R et & e e o &

e g 98 a1 T i < 4R w2 vkl B T I R
o v fS O T A i 8 e fea mym wrfew 1 fE
12 fearmut fed vt & O T & 9& Afer O e 7l
& 1
2 3

6 5 4 42

7 8 9 10 41 40

15 14 13 12 1

6 17 18 10 20 21 22 23 24 251
a6 35 34 33 32 31 30 20 28 27 %

O

47. 8,17,34:9,20,32::41, 22,1297

P
iz
& o
g

(1)  40,23,28 @) 40,25,27
(3) 42,39, 24 @) 42,3723
48, 36,16,35:15,17,14::7,6,8:7
(1) 6,85 @ 21,3
(3) 253 4 1,2,5 :
49, o fir 3 fF FASHION = FOIHSAN 3% €1
. ,‘mfa‘asc‘lENCEefa‘rse“ﬁl
(1) CIENCES (2) NCESCIE
(3) SCNEICE (4) SCNCIEC
so. s fari g ' PHYSICS = YHPSSCI 3 3% €4
g fe'g PROBLEM m&se‘ﬁlr
(1) ORPBMEL (2). ORPBEML

(3) OPRBMEL (4) ORPMBEL

4, #mHEATER o 85 KBDOHO 33t COLLER &1

Ry fFg @l . ,
(1) FLOIHO (2) - FLIRHO
(3) FRLIHO (4) FLRIOH

sy, #sa LOYAL @ % 13-16-26-2-13 3 3" GR
feg CLOCK & &% €71 ~ f

(1) 3-12-15-3-11 (2)
(3) 4-13-17-4-12 (4)

4-12:16-4-12
4-13-16-4-12

R e

&



Mirggt_iqng (Q53-54) : Study the following ;nfo:mg;@gn and

answer the question given below it.

1. Kamlesh, Govind and Ravinder are inteliigent.
2. Kamlesh, Rajesh and Jitendra are Hard Working.
3. Rajesh, Ravinder and Jitendra are honest.
4. Kamlesh, Govind and Jitendra are Ambitiqus. )

53.  Which of the following person is neither hard \l/vorking
nor ambitious ?

fowem (s 53~54): Ir e ot asmd fagwafe s 5o
st Pgufed TR LT L

1. aWBH, ifew W3 Ifees ghawe am1

2. BH, TH v widew gt o -

4. 3w, difee w3 Afdes @9 Posgues ol

53.  Jot i3 o feawyt fe@ fagar femadt ar ot

_ frssht 3 md wvat A LA L [
5113; g:;ysehSh : 83 g:xi‘r?ger | ((;; ;ﬁnﬂ{ﬁw N o C g; r;‘feﬁ?w
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Directions (Q55-56) : If the first four letters of a foreign term
‘HIPPNOWADIASM' are written in reverse order, next five
letters are written without changing their order and then the
remaining letters are again written in reverse order then in

fewew (yws 55-56) : fiwg fedwt mee ‘HIPPNQWADIASM'
& OF o e Tt Ffem™ v i Wt iy '§ vEe @B a

the following questions :- feu fafmr o 3 35 fad yrat fe's: )
. 85.  Whichletter will be exactly in the middie ? 55. - fagwrnive fewys femargddar 7
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56. Which létter will be preceding two adjoiijling vowels ?
M N @ H @ W.@ s

Directions (Q57-58) : Find out which of the answer figures
completes the figure matrix.

56. faumniya & g2 REa (vowels) F ufast wrdqr ?

M N @ H @ W-.@ s
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Directions!(Q59+62) Read the following information and
answer the questions: :

Circle — Educated Pérsons::

Triangle — Persoris in'Govt.:Services

Rectangle — Persoris Working in Private Sector

Square —Wonien

1

13
A X
s / 6J9

10 /1

Cgg

59.  Which number représents éducated women who
are in Gowt. Jobs ? '

M 2 @ 3 (@ 4 (@4 6

60. B :Which,.,nurﬁng.;épfegéer;t&dideducafed women, who
have Gowvt. jobs as well as jobs in Private Sector

Mm 4 @ 6. @39 4 12

61. Which number regresents uneducated Persons
working in Private Sector
M1 (@ 1203 13 (4 8
62. ° Number 10 répresénts — -
1) Educated women in.Private Jobs
_2; Uneducated men in Private Jobs
3) Educated méh ‘working in Private Sector
4) Educated men having private as well as Govt.
Jobs '

Directions (Q63-67) : Out of the following two sets, 1st set
is a problem figure whateas the 2nd set is of answer figures
having four altématives. You have to find which of the
answer figure Would fit in place of the question mark in

roblem figure. .
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Directions (Q68-70) :
} Paper has been folded as shown with the dotted lines in the

Problem Figure

Ahswer
Figures

Problem Figure

g
AN P

M ) 3 4

? .

N/
Ko

67.

Probiem Figure

Answer
- Figures

Moo ® @

In each question Sduare/Cnrcular

given figures. The last flgure shows how the paper has

r been cut. How would the paper look like when unfolded ?

65.

* l S

blAd b. N 59

(1) (2) (3) 4)
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69. 69.

70. 70.

X
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71. Count the nui‘nber_ of cuﬁés; in‘the given figure and 71. 9% g2 fd'ge feg wet (Cubes) St farst usr s w3
choose cotrect answer outof four alternatives e feasut fed nt € e g

L ——————"- S

(1) »70~~(25‘- §3-: @) 66 (4) 64 () 70 (@ 68 (3 66 (4) 64

Directions (Q72-74) : In each of the following problems, 4 7 = faedw (e 72-74) : I fo°F Yt fe'g yowedt Tgarae

square Transparent sheet with a Pattern is given. Figure " graver few fsufad fedt niswrg fio's famr 3 | w8 fow uraoont

out from among the four aiternatives.as how pattemwould  grrgr & férer Sur 3 ifeporr wraim 3+ feal ot frdt w1 o
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74.

75.

79.

| 80,

76.

77.

(3)

78.

@

qsl [ BICIRIE

SO0 18| 1181 18 1|8
(1) 2) (3) 4)

Ad :

AD Qo l[©0| (0D L Z0)
(1) 3) 4)

(2

The sheet of paper shown in the figure (X) given on

the left hand side in the problem, is folded to form a
box. Choose from among the alternatives 1, 2, 3, & 4,
the box that is similar will be formed.

e
—

X Mm@ ® @

Aand B are brothers. C & D are sisters. A's sonis D's
brother. Howis B relatedto C ?

(1)  Father (2)
(3) Grandfather 4)

Read the following information & answer 'the
questions. If A+B means that Ais the daughter of B;
AxB means that Ais the son of B; A-B means that A is
the wife of B. If PxQ-S, which of the following is true?

(1) Sisthe wife of Q

(2) Sisthe fatherof P

P is the daughter of Q
Q is the father of P

Brother
Uncle

(4)

Gopal is older than Mohan but younger than Ram.
Mohan is older than Sohan but younger than Ram.
Who s the oldest ?

(1) Gopal
(3) 'Ram

Mohan
Sohan

(2)
(4)

Kailash remembers that his brother Sanijiv's birthday ‘

falls after 20th May but before 28th May, while his
sister Geeta remembers that Sanijiv's birthday falls
before 22nd May but after 12th May. On what date
Sanjiv Birthday falls ?

(1) 20th May () 21st May
(3) 22nd May (4) 22nd June

01.12.1991 is the first Sunday. Which is the fourth
Tuesday of December 1991 ?

(1) 17.12,1991 2
26.12.1991 4)

24.12.1991
31.12.1991

B9 Y
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Directions (Q81-83) : Find outthe odd one out.

81.

82.

83.

Directions (Q84-86) : In each question, choose the water
image of the figure (x) from amongst the four alternatives

Mm@ ® @
Mm@ @& @
B\ | @ | A
\VAV RUA
M @ 6 @

givenas 1,2,3and 4.
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85.
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87.

8s.

89.

$90.

ot

~ 7 '
Directions (Q87-90) : In each question, choose the correct
mirror image of words from amongst the four alternatives
givenas1,2,3 and 4.

FLOAT E=  Mirror
(1" Erovi
(2 TAOJS3
3) EFOAL
4 TVOd1d

(1) os-T
(2 1-50
) oz-1L
(4) SO0-T

RELAY

NI Mirror
M YAL13S
@ BIrva

B) BEJVA
4 BETVA

STANDARD
(T Mirror

(1) 2LYVUDAKD
() 2LYNDVKD

B 2LvumaveD
4 21vnNDVED

fsgdm-(y. 87-90): Yot frg o YRS HYT O 519 ToyE ©F
l{a?faa(Murrorlmage)ﬁ.raarewfeawu 3 M3 4 feg

L

87.

88.

89.

90.

2 TAOJ3J
3) EFOAL
4 TVvOld3d

= T-20
(1) os-T1-
(2) L-50
3) oez-1
4) SO-T

RELAY
MmN ssu=s
(1) YA13A
@ B3rva

By BLEJVA
4) BETvA

STANDARD
(M seus

(1) 2LVYUDAKD
(2) 2LYNDVED

Q) 2LVvHMAVED
4) 21YUNDVEKED
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: Questions : 91 to 180

. 91. The rocket works on the principle of conservation of~

94.

o5,

1) Mass
3) Momentum

2) Energy
4) Velocity

Which of the following diagrams show correctly the
refraction ?

)

Inthe side mirror of car, image of all objects appear:

2) Smaller
4) Inverted

1) Bigger
3) Same Size

Where should an object be placed in front of convex

lens to getit's virtual image ?

1)Beyond 2 F 2)atF
3) at 2F

Anemometer is used for measuring —

1) Air Temperature
2) Humidity '
3) Velocity of Light
4) Speed of Wind

. Which Planet of the Solar System has no satellite ?

1} Jupiter 2) Venus
3) Satumn 4) Mars
- The sound from the vibrations of wings of a mosquito
produced at an average rate of 500 vibrations per
secondis :
1) 0.02 2) 0.002
3) 0.0002 4)0.2
. The S.1. Unit of electric currentis—
1) Coulomb/Sec 2) Volts
3) Coulomb « 4) Joule/Coulomb

- While writing with a chalk on the black board, the chalk

particles stick to the black boarddueto:

1) Friction
3) Drag Force

2) Lubrication
4) Gravitation

. When you speak to your friend, which of the following
Parameters have unique valuein the sound produced

1) Wave Length
3) Frequency

2) Amplitude
4) Wave Velocity

4) Between lens & focus

Part-il (g7ar-2)
Scholastic Aptitude Test fefimit ot tarar

YES 91 3 180

91. FaZH Tz fan faan 3 damarys
Ny (

94. @wm@me@ﬁwﬁ,famm
g3 7 v
1) 2F S yg 2)F& :
3)2F ¥ 4) 857 € ¥eg I F fevarg
95, ﬁemﬂ(é?ﬁmnza—)tﬁsahnﬁ?emﬂfsmw&
1) I8 8 IYN'E Wy st
2) &M Hu met
3) yaH € 9% HyT e
4) 92T € ISt vy Bt :
9. gawuﬁew@fauéaxftr%@mﬁm?g@?
1) gonyst . 2)HEe
3) &t 4)iars

97. H‘aaéuﬁe'rm@raﬁm)m’im.smm
@ﬁﬁaamﬁ?mﬁm%m?f&#w

1)0.02 2)0.002
3) 0.0002 4)0.2
o8, aéza?n?n‘w.ﬁiwa‘rfeaw’r&:
1) BN ySt igw 2)¥8e
3) gBH 4) g8 yStgmw

99, aiaias?wwfs&ém?w‘u*aﬁmﬁw?ﬁn
IS foua wie a7

1) feame (F912) o 2) Budlaws aos
3) S9N 95 | 4) AFSMERE 95
100. n@aﬁm@ﬁsmmmﬁamkﬁﬁw
m@am@kﬁawm@?&?
1) 331 Syt 2) Mo
3) mfeat 4) 3331 Sar



101.

102.

103.

104.

105.

106.

107.

108.

Which of the following is not unit of Energy ?

1) Joule
3) Kilowatt

2) Newton-meter
4) Kilowatt-hour

When the bulb of a dropperis pressed, while its nozzie
is kept in water, we see that the air in the dropper
escapes and water rises in the dropper, why ? .

1) Because of pressure of water
2) Atmospheric pressure
3)-Gravity of the Earth

4) Due to attraction of Moon

The Process of depoisting a layer of zinc on lron is
called -

1) Galvanisation 2) Crystallisation

3) lonisation _ 4) Hydration
Match the following :
Column | Column il
A FormicAcid i) Curd
B Lactic Acid i) Natural Indicator (dye)
C Litmus iii) . Milk of Magnesia
D Magnesium iv) Ant'sSting
hydroxide
1) A-ii B-iii C-i D-iv 2) A-iii, B-ii, C-i, D-iv
3) A-iv, B-i, C-ii, D-ii 4) A-iv, B-iii, C-ii, D-i
Amila and Citrus fruits contains :
1) Bases 2) Acids

3) Neither acids nor Bases 4) Both Acids and Bases
Which of the following is a chemical change ?

1) Melting of Wax - 2) Dissolving sugar in water
3) Beating-aluminium to make aluminium foil
4) Burning of Coal

Under high pressure and high temperature dead
plants got slowly converted to coal. As coal.contains
mainly carbon. The slow process of conversion of
dead vegetatipn into coal i is called—

1) Hybernation 2) Carbonisation

3) Aromatization 4) Vegetation
Match the following :- .
Column | Column If 7

A) Rayon i) used for making sweaters
B) 'Nylon ' iy made up of large number

i . of glucose unit
C) Acrylic iii} obtained from wood pulp
“D)  Celiulose ' iv) used for making parachutes

and socks

2) A-iii, B-iv, C-i, D-ii
4) A-iv, B-iii, C-ii, DI

1) A-ii, B-i, C-iv, D-iii
3) A-i, B-ii, C-iv, D-iii
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QO& When a copper vessel is exposed to moist air for long,
it acquires a dull green coating. The green material is
amixture of 1~

1) CuSO, and CuCO, 2)Cu(OH), and CuCO,
3) CuSO, and Cu(OH), 4)FeCO, and CuSO,

110. Which of the following zone of a flame is used by the
goldsmith to melt goid ?

1) Middle Zone
3) Dark Zone

2) inntermost Zone
4) Outermost Zone

111. Carbonmonoxide is produced when —

1) Complete Combustion takes place,
2) Incomplete Combustion takes place.
3) Does not linked with Combustion.

4) Both (1) and (2) are correct.

112. Number of Neutrons in 208 are -
Pb
82
1) 82 2) 208 3) 126 4) 290

113. Inwhich of following displacement reaction occurs—

A) Copper Sulphate (CuS0O,) + Zinc Granules (Zn)
B) Copper Suiphate (CuSQ,) + Iron Nail (Fe)

C) Zinc Sulphate (ZnSO,) + Copper Turnings (Cu)
D) Iron Sulphate (FeSO,) + Copper turnings (Cu)

1) Bothin Aand B
3)BothinBandC

2)BothinCand D
4) Bothin Aand D

% 114, Which of the following is a main constituent of natural

gas?
1) Methane 2) Ethane
o 3) Propane 4) Butane

115. Ecological Importance of Earthworms isthat :

A. It damages roots of plants.

B. It takes organic matter from the soil surface,
deeper into the soil for absorption by plants.

C. It's castings are rich in organic matter.

D. It serves as food for protozoa.

Which of the above statements are correct

1)Aand C 2)Band C
3)Aand B 4)A,Band D

116. Whodiscovered the vaccine for small-pox ?

1) Louis Pasteur

2) Alexander Fleming
3) Edward Jenner

4) Charles Darwin

109.

110.

111.

112.

113.

114.

115.

116.

Ttugg ger@erJifev yoree fureg e a-

1) CuSO, ™3 CuCO,  2) Cu(QH), W= CuCO,
3) CuSOm"ré’Cu(OH)? 4) FeCO, W3 CuSO0,
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117.-Match-Column-l with Column-H

Disease (Col-I) Microorganism (Col-1)

a) Citrus Canker i) Virus

b) Rust of Wheat ii) Bacteria

c) Malaria iii) Fungi

d) Yellow vein-mosaic.  iv) Protozoa
Bhindi

1) a-iii, b-ii, c-i, d-iv

‘ 2) a-iii, b, c-iv, d-i
3) aii, b-iv, c-i, d-ii

4) a-ii, b-ifi, c-iv, d-i

118. Inwhich of the following animals does fertilization take

place outside the body of the female.

- 1) Frog 2) Hen
. 3) Humans 4) Cow ‘
119. Humans are unable to digest the cellulose of the food

because:

1) Their stomach is not divided into compartments.

2) The lumen of the small intestine is narrow.

3) They are unable to chew cellulose.

4) Certain bacteria that are present in ruminants
are not present in humans.

120. Where s pituitary gland located in the body ?

1) On both sides of trachea
2) Near the Heart

3) in the brain

4) above the kidneys

121. For which process do we use the term ‘Nitrogen

Fixation'?

1) Fixing air nitrogen

2) Decay of dead matter by microbes

3) Eating of plants by animals

4) Nitrogen escaping into air from decaying matter

122. The number of nuclei present inazyoteis/are

1)-None 2) One
3) Two 4) Four
123. In the given figure, solution-l is more dilute than

solution-i. In wich direction will the net movement of

watertake place  Somi permeable Membrane

O _0 o0 0O O O e
o'O 0 00 00. ® O Ofwaer

OOO @] oO .O OOO ® O. o @1 Solutc

S e If(o]

Solution-1

1) From solution-} to solution-II

2) From solution-I1 to solution-|

3)Bothtand2

4) No net movement of water takes place

Solution-1I
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117, a8H-1 T fHe™s TBH-11 578 a9

118.

119.

120.

a1 (favmel) FBH-11 (FuHwte)

a) A9 3 FHT i) femg

b) Fex € g3t iii) g

¢) HBdtmr , jv) &aft

d) f&st et st iv) Qe
ERVIARTE

1) a-iii, b-ii, c-i, d-iv

2) a-iii, b-i, c-iv, d-ii
3) a-ii, b-iv, c-i, d-iii

4) a-ii, beiil, c-iv, d-i

I fsfont feg frad Ag fee fofmswer S mle Fras &

derd ‘

1)3F 2) yaait

)WY 4)ar

Fas feF Agda § wor mae &9 oy »ew 95

1) Gust @ figer fofimt fea adt Efenr Jemi

2) EA mtg v &8 Jar fer )

3) €0 fzBw § v rae {9 mmEw 951 '

4) vpt fge gy famw @ e s R A gt
aT B Ut feg T 751 '

e fe'g fugeiedt dpdt fard uret et 7

1) ST & S8 U

121.

122,

123,

2) feg & Faeta

3) fewrar fee

4)gee € ug

fowr fafon & ‘sretens wadiaae’ € &t &8 wfenr
Arerd | '

1) o= feust seiens § AT a9sT

2) FUHFtE’ EnirgT MY FET B niyues

3) At Enpmar Ue YT

4) I8 A3 yorIgt I IEtews T QINEHS

yanw feg areeat ot fifumr faat 97

1) &€t 2)few ‘

3)e 4) 979

T I fo'ge fe'e, Uis-1, Wa- 11 578 femrrer uasT 31
yrt fagah ferr € ot &3ar|

’ Serni-permeable Membrane

O o 0O
O. o 00 .O ® O Cirwaer

o
0° 0%® e © ol soue

o oo
o) .O 0 0io
o OOoOo
O o0 0
Solution-1

NS -1 FUS-I TS
2) WS -1 FUB-1¥S
T 1T 2
4) yra? fair < fomur 3 ardt &t 39w

Solution-TI




125.

126.

127.

128.

129,

130.

131.

132.

Manure enhances the water holding capacity of

the soil.

B. Manure makes the soil porous due to which
exchange of gases becomes easy.

C. Manure decreases the number of friendly
microbes.

D. Manure improves the texture of soil.

Which of the above statements are correct
1.ABC 2.B,CD 3.ABD 4.ACD

We get muscle cramps after heavy exercise
because—

a.  Muscle cells respire anaerobically.

b. lLactic acid is produced.

¢. There is partial breakdown of glucose.

d.  Muscle cells remain contracted for a long
period of time.

1.bcand d
3. cand d only

2.abandd
4.abandc

Which of the following state is the largest producer of
limestonein India ?

1) Tamilnadu 2) Kerala

3) Madhya Pradesh 4) Uttar Pradesh
The hottest Planetis :

1) Mars 2) Venus

3) Jupiter 4) Satum

Which of the following countries is the largest
producer of gold in the world ?

1) Japan " 2) China

3) South Africa 4) India
Kuroshio current lies in which Ocean ?

1)  Atlantic Ocean 2) Indian Ocean
3) Arctic Ocean 4) Pacific Ocean

in which region of India both tea and coffee are
produced ?

1) SouthEastIndia 2) North Eastindia
3) NorthWestindia 4) South West India

Inwhich country “Chinook Winds” blow :
1)  United States of America 2) Switzerland

3) India 4) - Australia
“Pampas Grasslands” are foundin :

1)  Germany 2) France

3) Japan 4) South America
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124.

125.

126.

127.

128.

129.

130.

131.

132,

b

A. yre fiferet vt iy S miger =er@st &

B. wefid Fymievee@@dgradne
FTET HAE T AR -

C. uw e f¥'9 saudea puries & ifiorr
werget i

D. uwtfiR o w539 § §U39 qeett On|

Quaa3z anst fE9 faud wat o

.LABC 2BCD 3.ABD 4ACD

frrer aRe3 a95 QUi B9 fee weit = u &t
TG d? ;

a.  HAUEPHT, wiEnrant Ara-fafenr aeaiit o)

b. Wmﬂwwm ‘

c. mmwmwm'aﬁmgwm '

d. Wl vt 33 AW I Faritet afgaimt

TSI
1.bemId , 2.abmdd
.a&Escmad 4, abM3 ¢
aa'fsfwra'wffe#faaarwnaa‘mwmw
Sauesagery?

1) ?ﬁm 2) .. 498 :
3) WoywEw 4) - Ggeyew
"3 I IRnalfa favar 37 ‘

1) HIE 2) Ha9

3) gforust - 4) @&

35 fefit fed fra fegrg I SuisT leraas oo on
faggrd? ‘

1) "9ys 2) €5

3) Tyt mrdar 4) FII

1) " WIS 2) f5eHomaR
3) wafed HWOATIIT  4) BT HIWGIT

¥ fafipr fed ooz @ faoS U39 feo oo w3 o
sEturatdtwatdr
1) €y ysdt g3

2) -gguyedt 3wz

3) Gseusitsws 4) TysuBMIes
“fega Uet” faua ew fe's gwetnt o517

1) RS TRMHAET 2) RfTeHosw

3) 93 4)  REE
&a‘fsfuw@a*h%‘faa?éwhvwawem
fHaoas?

1) woHat 2) I

3) AU 4) THSYdtar



133.

134.

135.

136.

137.

138.

139.

140.

141,

A large proportion. of Young population is result of :

1) High Birth rate 2} High Death Rate
3) High Life Expectancy 4)All.of the above

Which State is célfied the Sugar Bow! of India™?

1) Himachal Pradesh 2) Uttar Pradesh
3) Andhra Pradesh " 4) Tamiinadu
Which of the following hydro-electric project is
situated in Orissa?

1)  Hirakud 2) Bhakhra Dam

3) - Pong Dam 4) Nagarjuna Sagar Dam
Which one of the following tree was mainly used to
lay railway lines ?

1) Teak 2) Sal

3) Sandalwood 4) ' Pines

Which one of the followmg first Iron and Steel Plant
was set up in India ?

1)

Rourkela Iron and Steel Plant

2) Tata Ironand Steel Plant
3) Bhilai lron and Steel Plant
4) Iron and Steel Plant Karnataka

Rajputs were brave and skilled soldiers. But they
suffered defeat repeatedly. Which of the following was
not the cause of Muslims success against the
Rajputs?

1) Lack of Unity
3) Lack of permanent Army

2) Lack of Leadership
4) Lack of finances

Read the following statements

A. The capital of Vijayanagar Kingdom was Bidar
B. The capital of Bahmani Kingdom was Hampi

Which of the following is correct?

1) Both A and B are false
2) Both A and B are true
3) Ais true but B is false
4) Ais false but B is true

Which tribe in the Chhota Nagplr Area revolted first ?

(1) - Munda Tribe “{2) +Kaul Tribe
(8% Khrodh Tribe . +(4) Santhal Tribe

Read the following statements .

(A) Mahmud of Ghajni invaded India because he
wanted to. establish an empire in India

(B) Razia Sultana succeeded Iltutmlsh as he had
‘noson 7

Which of the»frollowing is correct ?-

1) Both A and.B are true
2) Both A and B are false
3) Ais true but B is false
4) Ais false but B is true

134,
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133.

135.

136.

137.
o 2)

138.

139.

140.

141.

1) GewaHes 2) geNzes
3) Cuing e gz Ay

997 & foad oW § “g793 § 5 wraser” faor wrer 37
1) forssyEw 2) EssyEw

3) wiuaT yew 4) Ffwsss

I fofiont fed faoat vz famsl Gasr @t aw fe9
Afag 37

1) dReEs 2) IHITIH

3) UdraW 4) IIHIES BH

I fafiont fed fagsT coug 38 sls feaGe e aw
wer 37

1) & 2) WE

3) V& 4) udEs

¥& fafiont fed ny 3 ufost o 3 rls Getiar 993
feg faazr sfamr st ?
1) IS BYT I RS UBTE
zrer 89T 3 AAE uwte
3) fommdt Hor I wEl® UBTe
4) wasTear 8IT 3 AAT UBTE

mwwmmmlm@awEww
wwmmﬁmmaafsfuwfevmfeau
yrfew fag e fagar aas st Al?

(1) FeFreEture niaTeTe e
(3) wuTet W et W wafaga we

5 fonitnt feuar ug-

(@) fe ma@ € arraat fae H

() STIHT av @ aETTST aHUt

¥ fafint e fausr sla 37

(I)Qﬁmﬁﬁm

(2) @I W TE AT I&

4)@gs T UM AT

g sraye fesa fide e 3 ufost fags a8 & feesa

at3m?

(1) Ve adET

(3) ydu =BT

azwmug|

@ mmﬁm@%mf&nmaﬁw
fa@fa Qu fedr myeA re agaT e Atk

S il A

%W@%mmm

(1) mMImESHI I&

(2) & w3 m S 5T

(2)
(4)

oy gHst

(2)
(4)




142 Who was the first Indian to pass Indian Civil Serwce 142. 3vast fafes vafen &1 Yiftmr uw a9 Trer yfosT -

Examination ? g T A ?
1)  Dr. Bhim Rao Ambedkar 1) 3.9 TG nideae
2) Dr. Sarvepalli Radha Krishnan 2) § . ReRyEl IUiaHas
3) Rabindra Nath Tagore 3) ofées =g 29
4) Satinder Nath Tagore 4) FwfSes 5w 3H9
143. Which of the following pertain to the permanent 143, mm@vﬁﬁmmmgmmm
settlement of Land Revenue System ? AU IS?
A) ;Ir'\he inlttgm';ediary betweer)dthe government and @) FeEw nfir farmss fewars fe@d & a9 fear fam)
e cultivator was removed. N AN NN
] B) The Zamindars were given hereditary right on ™) 'i""i‘l T g WIS &3 “_‘ﬁ ’_”\“a g€ f_"':g el
the lands g) fist € nyo miew fmifere’ @ mfuare 3o afae
; C) The group of villages remained under the old fegam
L land lords. M o83 (e T foR UE 393 favues aw
! D)  The share of the middle man was fixed fagr famarr|
! permanently.
§ 1) BandC 2) AandB (1) @»de (2) g”":‘”"
! 3) BandD 4) AandD (3) MwmIw (4) "I A
144. Match the following: ' 144. J5 fafunt @ sl ge gerg- :
’ A) Khalsa College i) 1875AD. 8) wemaw i) 18758t
B) Arya Samaj i) - 1892 A.D. W) nrdbHT AT i) 1892 .
C) Rama Krishna Mission i) 1897 A.D. ¥) o fams fims iy 1897 &t
D) Prarthana Samaj iv) 1867 A.D. . A7) YEST ANH iv) 1867 &t.
Which is the correct matching ? I5 fe¥ faoar gesa 3 2 .
A 1. A-ii, B-i, C-iti, D-iv 2. A-iv, B-iii, C-i, D-ii o . e
3. A-i, B-iv, CHiii, D-ii 4. A-iii, B-ii, C-iv, D-i L 8-, ofi, B, Fiv - 2. @iy, -, B, A
3. @—1. M-iv, =i, H-1i 4, @-lu,_bﬁl, T-1v, H-1

145. Read the following statements. . . L
145. 3 fawnr feuatni ug--
A) Widow Remarriage Act was result of a long

struggle in its support by Ishwar Chander ©) feuer usy few Wae fY dinge gea feforr
Vidya Sagar : AR & fen € 97 fe'T 3W Fwew o s3ta 7

B) Lord William Bentick abolished the practice of W) 97 fefem §fea & 1829 ot fie'g it umr
‘Sati’ in 1829 A.D. ‘ Y3 STy B

Which of the following correct ? 35 fefnt f=d fags star 37

1) Both Aand B are false . -

2) Both Aand B are true L g?gm?mgaam

3) Aistrue but Bis false 2) e M AT

4) Ais false but B is true 3) @RVIwWuEs I

(4) € ysTU@HRTTI
146. fiy fuRst & fareat fast mt ?

146. The number of Sikh Misls was ?

(1) 12 @ 22
(3 32 4) 42 1) 12 2) 22
147. Which Rashtrakuta ruler got the Kailash Temple at 3 32 442
Ellora built ? 147. fan Iegge AT & fedar fet domw Yrew seorfonm?
(1) Dhruv (2) Krishna-| ——
(3) Govind-Il (4) Amoghvarsh boeE 2) Il

3) difee-n (4) MTW=an

21 -




148.

149.

150.

151.

152.

163.

154.

155.

156.

167.

In 1929 Bombs were blasted in Central Assembly
Hall, Delhi by

(1) Bhagat Singh and Rajguru

(2) Bhagat Singh and Battukeshwar Dutt

(3) Bhagat Singh and Sukhdev

(4) Bhagat Singh and Chander Shekhar Azad

---------- invited Baburtoinvade India

Alam Shah 2) Daulat Khan Lodhi
Khizar Khan (4)  Muhammad Khan

Who has the power to declare emergency in India?

1) Prime Minister 2) Chief Justice of Supreme Court
3) President 4) Speaker of Lok Sabha

Which words are added in Indian Preamble of Indian
Constitution by 42nd amendment?

1) Cultural and Educational Right
2) Right to Freedom

3) Right against Exploitation

4) Unity and Integrity

How many members are nominated by President in
Lok Sabha and Rajya Sabha ?

1) 4 and 10 2)8and 12
3)2and 12 4)2and 10

Which Committee was chaired by Dr. B.R. Ambedkar?

1) Finance and Staff Committee
2) Drafting Committee

3) Press Gallary Committee

4) Parliament Committee

How many High Courts are there at presentin India?

1) 20 2) 21
3) 22 4 25

At which level the Panchayat Samiti is formed in Panchayat
Raj?

1) Village Level 2) City Level

3) Block Level 4) District Level
How many states are there in India at present ?
1) 25 2) 28

3) 30 4) 35

Which of the following is not a marginalised group in
India ?

1)  Scheduled Tribes and Addivasi

2) Scheduled Castes and Scheduled Tribes
3) Women

4)  Muslims
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148.

149.

150.

151.

152.

153.

154.

155.

156.

157.

1929 & fE'8Y € d'udt miest o5 feo fagar & &9
BeRS? '

1) a3 ffw w3 arag &

(2) 913 fAw w3 sganes €3 &

3) I w3 puee & A

4) a3 w3 e iug e &

————————— ST TIII M Ies e ReTieIT?
(1) "MBHET (2) €3yt Eut

(3) fumgws (4).  HOHE Y&
gogfegigeas Tt iReT e HoeTd?

1) yurs ¥t 2) RO MEBI T HY A A
3) gmeousht 4) & AaT it

g3 Afeurs fey 42° Au ardt yrgresT fee faua maet
Fav a3 famir §?

1) Afenrgras w3 fefema nifogs

2) F¥39gT v offuard

3) #n feg'a mfuas

4) ndsgT mS FaIT

FTag T IHeIUSt FanaT I Ivd AT L9 48 NEe
EHAT IS ?

1) 4m3 10 2)8mMI 12

3)2mMd 12 4) 2% 10

.t nrg wieam fifeurs FEd far anedt € yurs A ?
1) f&3 %2 g anet

*2)  HHEr anet

3)  {w Jrsdt aet

4) FES IS

193 feg fen mit €9 miersar ot fareat &t 37
1)20 2y 21

3)22 4) 25

terfez o yeat fe'e (erfea st faw yoe 3 semet
FARI?

1) fisymw3 2) FIPYE I

3) EBIUT I 4) fagruue3
Taws A g fea fdd Yigos?

1) 25 2) 28

3) 30 ) 4) 35

3= fefipnt feg de iz agu fea mms sdt 37

1) wpEfes gEs w3 nrfeawt

2) wgpfes At w3 nigpfes aEid
3) femadmt

4)  YABHS

e A A0 i e+ 11 S M e oo




159.

160.

161.

162.

163.

164.

1685.

. The President of India is elected by an ‘Electoral

College’ which consists of-

1) Elected-members of Parliament and elscted members
of State Assembiies.

2)  Elected members of Lok Sabha and Rajya Sabha.

3)  Members of Parliament and membiers of State
Legislative Councils.

4)  Nominated members of Parliament.

in indian Democracy, which of the following is not only
guarantees freedom to Indian Citizen but also checks
misuse of power by the govemnment ? ‘

1} High Court

2) Directive Principles of State Poiicy

3) Fundamental Duties

4) Right to Constitutional Remedies

Which one of these is not an organ of the United
Nation Organisation ?

1)  General Assembly

2) International Court of Justice
3) . Attorney General

4)  Security Council

"X_y_Z

bc ca a-b

the value of (ax+by+cz) (}*+y*+2%) will be

(1) 2(a*+b*+c?) @ o
@) 1 (4) (ab+bc+ca)

Find the least number by which the number
2592x10° must be divided to get a perfect cube.

M 4 (26 (3 8 @ 12
Which is the largest number from 3v2, 3v3, 4v4, 65
(1)3V2, (2)3V3, (3)4v4, (4) 65
If 2(x*+1)=5x, then the value of x- 1 will be
3 .. -3 3 X2
Wz @7 @5 @ 5
Ragini is twice as old as Reena. If six year subtracted
from Reena’s age and Four years are added to

Ragini's age then Ragini's age will be four times
Reena’s age. What was the Reena’s age Four year

then

158.

159.

160.

161.

162.

163.

164.

165.

99 ¥ IHeust § fow 92 Www geur 3 faw faw g
¥eT5? :
1) e @ g3 3 Nea w3 o @ fews maret @
g Naai ‘ ’
2) &% B AT M TTRET T g Nag
3) e € Reg w3 g3t @ feus Weet @ Nae
4) FAT T FHAT Nug) '
35 fafionr fed s9g Sadev feude sraem gog @
sraf & gedgaer et vt aer ¥ Rt meaATT § Hareh
T eI Qulieraes I @ Faerdy? '
1) a¥Ese
2) TWE IR E faoona oy
3) Nfsa agse
4) FAfewfss Quargt e nifuars
IS fafimit s faaar foag evres fwrerimr st a7

1) MHJItAgT

2) M3ITHET fomt mess

3)  AI&T ASIS

4) gt yiwe

wag X _ Y.  Z 5@
b-c - ca a-b

(ax+by+c2z) (C+y*+Z) B S T
(1) 2(a’+b’+c?) (2 o
3 1 ' (4) - (ab+bc+ca) :
89 8t 3 &<t Aifgwr forasht T30 fng daw 2502x10°
&% enr 72 3t QT you wE v A ?
() 4 (@ 6 (3 8 (4 12
3V2, 3V3, 4V4, 6v5 fe¥ faust Afiewr ry I @5t
J?
(1)3V2, (2)3V3, (3)4v4, (4) 65
AFT 2(x*+1)=5x, T 3t x. L ot stz F23it
M3 @23 @3 w2

4 4 2 5
ot €t @ daT ot @ue I garet 3, e FaT it O
hﬁ%mm@mn@mé%f‘e‘ewwﬁ%
A 3t grforst €t Qe dtaT & Qe I Sarst T et g

ago. s ufostdasret Qua st it ¢

(1) 14 year (2) 18 years (1) 147 (2) 18FS

(3) 8year (4) 10years (3) 8FET @) 107

166.1f P*P = PP \where p and qare
ositive ?eal nun?ber then q is equal to 166, Faa P +Tp - P\/% I3 P73 q u
u . = . - i

P q :2 ffimret 3 3t q ©F sz To9h

(1) p+1 (2 P*1 '

@ p @) P () pr1 @ P
@ pt 4) p+1
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167.

168.

169.

Ram, Sham and- Harmam begins to walk around a
cwcular track. They completed their revolution in
151 seconds, 16 _l-_ seconds and 18 -2.seconds
res;?ectwely After what time they will bg together at
the stamng point again ?

(1) 303 3 3 sec (2) 3064 secs.
(3) 3604 sec (4). 3640 sec.

Four prime numbers are in-ascending order of their

magnitude. Tha product of the first three pumbers is
385 and that of last-three is 1001. The largest given
prime number will be ‘

(1) 19 (@) 17 (3) .13 (4 1

A man had T 2000. He ient a part of this at 5% simple
interest and the- reést at 4%. The total interest he
received in one year.was T 92. The money-he lent at
5% was

(1) ¥ 1100
(3) 1150

() T1200
(4) T 1050

170. The marked price of a colour T.V. is T 18000. The

171.

172.

178.

shopkeeper gives a discount of 8% on the marked
price. He gives further off season discount of 5% on
the balance amount. If 10% sale tax is charged on the
remaining amount, what will be the final price the
customerto pay for T.V.

(1) 17460 - (2) T17460.20
(3) T17305.20 (4) 17326

A metallice pipe is 70 cm thick.-Find the total cost of
painting the pipe if the rate of painting is X 6 per square
meter. Given that length of pipe is 7 mt. and outer
radiusis5.6mt.

(1) T3049.20 (2) 7360.20
(3) ¥ 1560.20 | (4) T4309.20

As in the fig. Find ZCAB if AAMC
/MCB=25° C

Nz,

90° and

B
(1) e5° (2) 75°
(3) 55° (4) 115°
Achord CD of a citcle whose centre Mis bisected atN

by a diameter AB. Find AD if‘A lies on the minor arc
given that BM=15cm and MN=9cm

(1) 75cm (2) 6¥5cm
(8) 5v5cm (4) 3vEcm
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167.

168.

169.

170.

171.

172.

173.

mmwmwwmémmw_

aﬁ‘a*l@aspmwuafmls—_ﬁﬁz 16 Aféw
m:%s3 ﬁﬁsfeawaa%mlf&%nﬂ‘m@a

»mé‘nw@m%mfw%mn
(1) 3033 Rfés (2) 3064 Af¥s.
(3) 3604ﬁfa:-.r (4) 3640 Rfaw

g gt it nrud s O wEe o T gs 1 ufos
% ware Hfimret o greaes 385 T3 wrdieEtnt f35
W?mmm&lfe?ﬂwaan#mm
fe¥ re IS Af faut 3 ?

(1) 19 (2) 17 (3) 13 (4) 1

fearmrar 8% 20003: QW& few Wrer g o sumuae
forg I M3 gt T an g 3 Cua fegni@r § fea A
femsgs e fe»méﬁm@m‘:s»aea*mf‘&a‘?m@ma
fea

(1) 11008 (2) 12003

(3) 11509 (4) 1050 &

fea JoreTa 2eifens eraifaa is 18000 3: JIgaraed Hids
W5 3wt B2 foer NIQT ot s I 82 5% Jgfeerd
Fg gEEt gan T 10 fegd! ae s igr A 3t araa §
Yarorg 2eifers st fmrifar s e sgsT u=an?

(1) T 17460 (2)' % 17460.20
(3) T17305.20 (4) 17326

fegurg S uEty 70 i AR SIvAu § Teaea st g s
¥TY UTT 49, 79T Ve 395 €@ €9 6 §: YI T Hieg 391
yrety & urel 7 w3 et wiga fem 5 6. 397

(1) Z3049.20 (2) 2736020
(3) ¥ 1560.20 (4) T 4309.20

fa'gg »igA™g /CABe‘ra’mga’tz“réaﬁAﬁaa

ZAMC=90° M3 /MCB=25° 327

B
@) 75°

1 65°
() (4) 115°

(3) 55°

fer ggg frmer FeTM I3 T3e CD & fermAB fg N
I garfag ggeT J1 g BM=15cm W3 MN=9.cm 32 3
AD uzT 59 Aag fig Asweu I Rfez 421

(1) 7V5cm (2) 6\5cm

(3) 5v6cm (4) 3v5cm
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177

178.

179. 1




/7
174.

175.

176.

177.

178.

179.

i 180.

The length of a rectangular field is 950 meter and
breadth is 700 meter, what will be the area of a largest
circular park in the field?

(1) 385000 sg.mt. (2) 285000 sq.mt.
(3) 800000 sq.mt. (4) 1650 n Sq.mt.
if A= 4xy then value of A+2x . A+2y

x+y A-2x A2y
will be
(n 1 (2 2
@) 3 4 4

The average weight of Shyam and Krishan is 42 kg;
while the average weight of Shyam, Krishan and Ram,
is 44 kg. If the average weight of Krishan and Ram is
43kg. Find the weight of Krishan?

(1) 30kg. (2) 38Kkg.
(3) 40kg. (4) 48kg.

In an Examination 30% of the students failed in Maths,
40% failed in Science and 25% failed in both the
subjects. If 220 students passed in both the subjects.
Find the number of students appeared in the
Examination.

(1) 400 (2) 600
(3) 300 (4) 500
What will be the unit digit in the product 17°x22*x33°
(1) 6 (2) 4
@ 8 @) 2
2 2
i, 2*2 . 7 thenthevalueof 2P i
a-b 3 a’-b’
29 49 16 29
1) == (2 = — ke
(1) 57 @ 3 3 5 4) 50

If the radius of base and height of a cone are
increased by 10%, then the volume of the cone is
increased by :

{1) 30%

2) 33.1% (3) 40% (4) 42%
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(1) 30fxar.

fear wirfegrare 43 € duvet 950 . md Favet 700 view
3 Ifen feu &8 3 <3 vagag uaw vT §gees ot Tar?

(1) 385000 Txt.
(3) 800000 = .

(2) 285000 = M.

(4) 1650 r =M.

A9 A_4_x¥ Jegr A+2x + A+2y
T x+y A2x A2y

& awg &t g=af?

(1 1 2) 2

(3 3 “4) 4

T w3 faEs e »ing 979 42 fa apn & e fa aw, fams
W3 IH T WAI I'9 44 fa 3 J A s w3 avr e
WAI 979 43 fa 3. 57 It famas ergg FSam?

(2) 38feaar.
(38) 40fxar. (4) 4sfaar.

fea yifumr fe'g 304 fefenrodt forre feg 3% 38, 40%
fefenradt rrfew e 3w 98 25% €= fefimit feg 35 598
wag 220 fefeniedt 82 fefint few um I 3t Whenr
fevgs fas fefenradt &57
(1) 400

(3) 300

(2) 600
(4) 500

17%x22"x33° feg fearet ervig st §2ar ?

(1) 6 (2 4
(3 8 4 2
dmm 22 - L ae g 20 4 aeg ot St
a-b 3 a™-b
29 49 16 29
(1) 27 (2 3 3 5 (4) 50

AT Bg € WUT T wag fem i §aret 10% <ur

fe'st e 3 O urarfegs (= fedy) fésr =tar ?
(1) 30% () 33.1% (3) 40% (4) 42%
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